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Al = Al S

2 =y = 2016 Ofl &t = g = 2016 Oil &t
s A 174,770,000 S 174,770,000
A ==g Al - FAUMEME 2 Al 70,000,000
A ==g En - QI 24 H| (23 37,051,000
2IHIAIS =& - =0 26,648,000
JIEtAE =2 - EIXNNES 2,700,000
Xz Al 147,670,000 AN EE8RYS 3,133,000
g;ggfga (23 60,000,000 Ml==& 4,560,000
ZUEXS - JIEt=d =2l 10,000
NEEXS 40,000,000 L= (23 3,400,000
“E2Xx3 20,000,000 Jl22dHl 1,600,000
JIEtE X3 - L] 1,600,000
CYS-NETE XS +E (23 87,670,000 22 200,000
ZNEXS 43,835,000 =gl (23 7,789,000
NEXS 21,917,500 01l 700,000
TEXS 21,917,500 =EHl==3 4,209,000
SEs=+Y Al 16,000,000 323 1,680,000
SEs=+Y (23 16,000,000 MASo= 900,000
NE=d3 15,000,000 A=l 300,000
HAE=E3 1,000,000 A& HI (230 20,770,000
L= Al 1,000,000 A& Hl 12,940,000
= (23 1,000,000 A&k S| 4,530,000
=82S - A& E IS XY 3,300,000

2016 0fl &+ (B2)-1 MTE LAY ESA




(DMSNESZ

Al = Al S
2 =y = 2016 Ofl &t = g = 2016 Oil &t
JIEtxte 3 1,000,000 At HI (23 990,000
dY= A 10,000,000 NS LAY 990,000
dY= (23 10,000,000 CYS-NETE2 Al 87,670,000
gHolg M= 10,000,000 Q24| (23 65,400,000
Olg= Al - =0 40,374,560
Olg= (23 - SEEEE 4,650,000
HEE0IE3 - N EEREES 5,465,440
HEZ0IE=E3 - == 14,880,000
A0l AR Y - JlEt=d =2l 30,000
g Al 100,000 23l (23 900,000
g (23 100,000 04| 900,000
ESS020 - At HI (22 21,370,000
JIEHOIZ Ol A== 50,000 g= 600,000
JIetE =g 50,000 A E ALY 4,900,000
DAY 2,450,000
FIVNEAEXA 270,000
= 11,450,000
CYS-NET=E =29 1,700,000
dE=9g A 15,000,000
At ] (23D 15,000,000
S3tAtY 15,000,000
M= Al 1,000,000
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A ol A &
2 = = 20164 0fl &t 2 = = 20164 0f &F
SMaES (2H) 1,000,000
JIEtE A At e 2 1,000,000
= H -
SN (&) -
B _
olbIbl 2 JIE H 1,100,000
ol BBl (2H) 1,100,000
ORI 1,100,000
B a2 -
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